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1 100kN/m#%# 23 - -~ -|3mEEZD -~ - -| 100kN/ Mm%z 5 - -~ -|3mEEZD -~ -
Th st 1.00 000 ~ 6.76 85.43 | TSN 000 ~ 676|206 10.37 zh st 1.00 | 5.00 ~ 9.85 85.43 | Tns | 5,00 ~ 9.85| 205 10.37
2 100kN/m#%# 23 -~ -|3mEEZD -~ -| 100kN/ Mm%z 5 -~ -|3mEEZD -~
Th st 1.00|0.00 ~ 755 96.53 | Fhs 000 ~ 755|224 11.54 zh st 1.00 | 5.00 ~ 10.00 96.53 | Fhst | 5.00 ~ 1000|224 11.54
3 100kN/m%#8Z% | 1.00|0.00 ~ 0.49 107.27 |3m% B3 ~ -| 100kN/mi%#8%% | 1.00 | 10.63 ~ 11.97 107.27 |3m%#BZ % ~
Zh st 1.00049 ~ 828 100.00 | #nist | 000 ~ 828|226 11.41 Zhst 1.00 | 5.00 ~ 10.63 100.00 | TS5 | 6,00 ~ 11.97| 2.26 11.41
4 100kN/m#%#825 | 1.00|0.00 ~ 047 106.98 |3m%#B A3 ~ -| 100kN/mi%#8%% | 1.00 | 11.43 ~ 1280 106.98 |3m%#BZ % ~
ZFh st 1.00|047 ~ 826 100.00 | =nst 000 ~ 826|241 12.19 Zhst 1.00 | 5.00 ~ 11.43 100.00 | T | 5,00 ~ 1280 | 2.41 12.19
5 100kN/m%#8Z% | 1.00 | 0.00 ~ 0.93 113.93 |3mZz#EZ 5 ~ -| 100kN/mi%#8%% | 1.00 | 10.90 ~ 14.10 113.93 |3m%#BZ % ~
Th st 1.00 093 ~ 871 100.00 | #his |0.00 ~ 871|206 10.43 Zzh st 1.00 | 5.00 ~ 10.90 100.00 | =hds | 5.00 ~ 14.10| 2.06 10.43
6 100kN/m%#8Z5% | 1.00|0.00 ~ 061 109.03 |3m%# A3 ~ -| 100kN/mi%#8%% | 1.00 | 1268 ~ 1563 109.03 |3m%#BZ % ~
Th st 1.00 061 ~ 839 100.00 | =hs | 000 ~ 839|210 10.60 Zzh st 1.00 | 5.00 ~ 12.68 100.00 | =hds | 6.00 ~ 1563 2.10 10.60
” 100kN/m%#8Z% | 1.00|0.00 ~ 0.89 113.27 |3m% 83 ~ -| 100kN/mi%#8%% | 1.00 | 1269 ~ 1745 113.27 |3m%#BZ % ~
ZFh st 1.001089 ~ 867 | 100.00| FThus (000 ~ 867|210 10.60 zhst 1.00 | 56.00 ~ 1269 100.00 | Thds | 6.00 ~ 1745 | 2.10 10.60
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ zhist ~ Thist ~ Thist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh s ~ zhist ~ zhist ~ zhist ~
100kN/m#%# 23 ~ ImZEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh s ~ zhist ~ zhist ~ Thist ~
100kN/m#%# 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh st ~ zhist ~ Thist ~ zhist ~
100kN/m#%# 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh st ~ zhist ~ Thist ~ zhist ~
100kN/m#%# 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh st ~ zhist ~ zhist ~ Thist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh s ~ Thist ~ zhist ~ Thist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZRD ~
Zzh st ~ zhist ~ Thist ~ zhist ~




